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Answer all the following questions

Illustrate your answers with sketches when necessary
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a) In a given year, a catchment with an area of 200 km? received 1.2 m of precipitation. Find the average rate of flow
in a river draining the catchment, for 33% runoff coefficient?
b) In the figure: (1) What is the type of this sloping land? Why? (2) Determine the area served by C3?
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Question (2) Plan the irrigation and drainage networks to serve this 30,000 Fed area? (10 Marks)
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A Model Answer
Question (1) (10 Marks)
a) Runoff coefficient = Runoff volume / precipitation volume
Runoff volume = Runoff coefficient * precipitation volume

=0.33* (1.2 x 200 x 10%) = 7.92 x10" m?
Runoff volume = number of seconds in a year * average rate of flow
Average rate of flow = Runoff volume / number of seconds in a year
=7.92 x107/ (60*60*24*365) = 2.5 m*/sec
b) (1) Flat sloping, as 2-way irrigation and drainage.
(2) Lz = Leg = (2,000 * 4,200) /5,000 = 1.68 Km
Acs = (2,000 * 1,680) / 4,200 = 800 Feddan

Question (2) (10 Marks)
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